
Antiderivatives

f F where remarks

0 const. R
1 x R

xn
xn+1

n+ 1
R n ∈ N0

xz
xz+1

z + 1
R \ {0} z 6= −1, negative integer

xa
xa+1

a+ 1
(0,+∞) a 6= −1, real

1
x log |x| R \ {0} natural logarithm

ex ex R

ax
ax

log a
R a > 0, a 6= 1

sinx − cosx R
cosx sinx R
1

cos2 x
tg x ∪k∈Z

(
−π

2 + kπ, π2 + kπ
)

− 1

sin2 x
cotg x ∪k∈Z (kπ, (k + 1)π)

1√
1− x2

arcsin x (−1, 1)

− 1√
1− x2

arccos x (−1, 1)

1

1 + x2
arctan x R

− 1

1 + x2
arcctg x R

1

1− x2
1
2 ln

∣∣∣1+x1−x

∣∣∣ R \ {1,−1}

1√
x2 + 1

ln |x+
√
x2 + 1| R

1√
x2 − 1

ln |x+
√
x2 − 1| (−∞,−1) ∪ (1,∞)

∫
cf dx = c

∫
f dx

∫
f ± g dx =

∫
f dx±

∫
g dx∫

u′v dx = uv −
∫
uv′ dx

∫
f(g(x))g′(x) dx = F (g(x))


